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1. A classifier (e.g. &, F5, {H, 1§ and EF below) often occurs with a numeral (e.g. —, — , = etc.). Butit

can also appear without any numeral and when it does, it is known as a bare classifier. Consider the following
data, taken from the Academia Sinica Balanced Corpus of Modern Chinese.

(1) BEEEIBRFASRIAE

(2) EENELSREE

(3) MEEEEREENE2.86 7H T1496 9/
4) FEENEAR THEFHELELEFEES

(5) TR THRIEEENEENRELENER
(6) KEF FEAY—EBGEE/NE

) TR EEEE

(8) FEAHRBENE

(9) BEENE

10 {REFEFE-REEE L2

(A) Identify syntactic contexts where bare classifiers oceur in the data, (i.e. Do they occur when they have
specific syntaot—ic-;r@les?.—.-zD.p#c-hey"ecéur;‘in speeific syntactic-positions?) (10Y%)

®B) Céfeéor-ize the contexts'inta types and explain your categorization. (10%)

(C) The passive marker 7 (as in fif§ 5% 1) does not ocour with a following bare classifier in the corpus. Is
this expected, given your categorization? Why or why not? (10%)

2. Consider the following sound changes (A > B means A changes into B), kno.wn collectively as yod-
coalescence.

Fortune /*fotjun/ > /' foxtfun/
Soldier /'souldje-/ > /'sovldze-/
Fissure /'fisja/ > /'fife/
Seizure /'si.zje/ > /'si.ze/ -

Yod-coalescence does not apply in all contexts; for some speakers, it is blocked in the following words: fune,
tuna, Tuesday, dew, due and dune.

(A)Describe the changes and where they are blocked as precisely as you can. (10%)
(B) How would Tuesday and dune be pronounced if yod-coalescence is not blocked? (10%)
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- What linguistic phenomena are jnvolved in this-case?

3. In each of the following examples, please:

(A) Identify the ,en’qailmen& or implicature involved. (8%)

(B) Provide reasons for your judgments. (4%)
(a) Mia: “Did you call the doctor?” Kim: “I’ve been busy today.”
(b) Mia: “Are you hungry?” Kim: “I had lunch just now.”
(c) Mia: “Is Jim alive?” Kim: “He was assassinated.”
(d) Mia: “Does Jim haye a car?” Kim: “He has a Toyota.”

4, Describe the sense and reference of the following expressions, (8%)
(a) “the capital of France”
(b) “the Queen of Mars”

5. In each of the following examples, please:
(A) Identify whether a presupposition is involved, and if so, specify what the presupposmon is. (8%)
(B) Provide your reasons or diagnoses for your Judgments (4%)

(2).Did Emma stop drinking coffec?

(b) Jim had another cup of eoffee. -

(¢) Emma guessed that Jim was addicted to caffeine.

(d) Jim regretted drinking too much coffee.

6. Please discuss the following example: " HE AGHE - | (6%)
- What are the literal and nonliteral readings of the sentence?
- Does its literal meaning make sense? Why or why not?

7. (A) Classify the following words into four groups based on thelr argument structures and thematic roles as
1ex1cally encoded. (8%)

(B) Describe each group in terms of these two aspects. (4%)
(a) burn (b) jump (c) claim (d) swim
(e) send (f) assume  (g) sell (h) hit
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